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ssize_t nread;

gLl fx

/% move any remainder to the start of the buffer so
that we can do a full refill ¥/
(remainbuz) (
memmove (p->but,
p->readidx = 0;
p->uriteids = remainbuf;
) else ¢
/% nothing to wove, just
p->readidx = p->uriteids

i
ep->buf [p->readidx], remainbuf) ;

zerc the indexes °/
0

)

/% now read = big chunk from
nread =
libssh2 recv{session->socket fd, £p->bufiremainbuf],
A" 15-VifipEaUPA [75,Dig"—+@-190iirio THocSway|xpsAKKYL FAFGE ¢egc0d " »AizHE v T To-2VD' 1153 NV RSB

the network into the temp buffer %/
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if (nread <= 0) ¢

/% check if this is due to EAGAIN and return the special

return code if so, error out normally otherwise +/

({nread < 0) & (errmo == EAGAIN)] {

session->socket_black directions
LIBSSHz_SESSTON_BLOCK_INBOUND;

return PACKET EAGAIN.

LIESSHz_SOCKET RECY_FLAGS (session]);

i

)
return PACKET FAIL;

debugdunp (session, "libsshz_transport_read ()
sp->buf [remainbuz], nread):

/% advance write pointer +/

p->uriteidx += nread;

/% update remainbut counter 5/
remainbuf = p->uriteidx - p->readids;
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session->socket_block_directions
LIBSSHz_SESSTON_BLOCK_INBOUND;
return PACKET_EAGATN;

gLl fx

if (encrypred] (
e = decrypt(session, sp->buf[p->readidx], BISCE, blocksize):

it (rc != PACKET_NONE) ( block| & - Dx001265%4
return re; eET ]
) om0
0 /7 save the first S bytes of the decrypred packas ¢[2] 0
used in the hash calculation later down. 7/ | 4131 Y
o T
wemcpy (p->init, p->buflp->readidxl, 5): LS
) else ¢ o
0 * the data is plain, just copy it verbatim to | 411 0
/7 the data is p ust copy it eamco 3000
the working block buffer */ o oo

memcpy (block, sp->buf[p->readidx], blocksize): 4 [10] 112

)

/% advance the read pointer %/ 9 113] 105
p->readidx += blocksize:

= /% ve now have the initial blacksize bytes decrypted,
* and we can extract packet and padding length from it
"
p->packet_length = _1ibssh_ntohu3Z (block) ;
if (p->packet_length < 1]
return PACKET_FAIL;

| p->padding_Lengeh = hlock[4];
it (p->padding_lengeh < 0)
recurn PACKET FAIL:

= /% total_mun is the mumber of bytes following the imitial
(S bytes) packet length and padding length fields */
p->total_nun =
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